SC 2q12 - SIP11j — SIP - Inpt - Hair removal by acceptable method (SCIP-Inf-6)

REVSTAT

REVIEW STATUS (not abstracted)

0. Abstraction has not begun

1. Abstraction in progress

2. Abstraction completed w/o errors

3. TVG failure (exclusion)

4. Record contains missing required answers (error record)
5. Administrative exclusion from all measures

CATNUM

Sample category

53. Surgical Care

55. Type 10 Surgery Cases

SIADMDT (SCIP)
Date of admission to inpatient care:

BIRTHDT
Patient date of birth. Received on pull list.

DTOFDC (SCIP)
Discharge Date

AGE
Calculated field = SIADMDT - BIRTHDT

START

REVSTAT NOT =2

Not =
53 or 55

53, 55

Invall(_j or DTOFDC < 01/01/12—»
Missing

>=01/01/12

Missing

Valld Date

Calculate
DTOFDC - SIADMDT

+—<0,>120— > 120—p

>=0 and <=120

Invalld or

MISSIng BIRTHDT

Valid Date

A
. <0or
(' JC Reject stsng*and < 1™ EXCLUDED )

>=18

&
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SC 2q12 - SIP11j — SIP - Inpt - Hair removal by acceptable method (SCIP-Inf-6)

What method of surgical site hair removal was performed
prior to the principal procedure? (SCIP)

Select all that apply:

HAIRGONEL. No documented hair removal or no hair
removal performed

Razor

Clippers/Scissors

Depilatory

HAIRGONE?2.
HAIRGONES3.
HAIRGONEA4.
HAIRGONES. Other method of hair removal
HAIRGONESG. Patient performed their own hair removal
HAIRGONES. Hair removal performed with a razor

from the scrotal area OR from the scalp

after a current traumatic head injury
HAIRGONE99. Unable to determine method

Type X Mssng&l EXCLUDED
2

Missing Type X

CLNTRIAL (SCIP) 99’934?3999 ANEBEGDT

During this hospital stay, was the patient ( )

enrolled in a clinical trial in which patients

undergoing surgery were being studied?

;' Eis Valid Date
Calculate

ANEBEGDT (SCIP)
Enter the date the anesthesia was started

ANEBEGDT- SIADMDT

<0 EXCLUDED

for the principal procedure.

HAIRGONEZ2,
HAIRGONES3,
HAIRGONEA4,
HAIRGONES,
HAIRGONES,

ALL

ANY HAIRGONE2

HAIRGONES

In Denominator only

(fails indicator) None = -1

HAIRGONEL1
HAIRGONES
HAIRGONE4
HAIRGONES

-1

>=0

HAIRGONE99

AIRGONEL,
HAIRGONEZ2,
HAIRGONES,
HAIRGONE4,
HAIRGONES,
HAIRGONEG6

1
Q

None = Missing
and ANY = -1

HAIRGONE6

Missing

NONE = -1 or
ANY = Missing

-1 EXCLUDED

Numerator
(passes indicator)
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